/ - = o Ed - &F _’
R %o & ZE 1 780H ) 15Kz i a1 1, 7 8 s e
1}; fus —Mﬂ 2E-— EMMEWWW I(Esummmﬂmﬁm I} X0 & —|L{E 5t A— 214508 B aRROL7 (77 saaﬁawﬂmwmwww
DI | e i -‘
w 2 b & Ls L)ﬁ ﬁﬁ
Y b - ok : |
) == S 7o % 21 .
% P HN

(45 E] F?ﬂ@?

TAVhEALEENT

ﬁaﬁgg N o2 200m 68 2,4 50m
E{?ﬁ?ﬁ?ﬁﬂjm 399n1%‘4 750H

4 1 ﬁ%ﬂ?ﬁ?ﬁams 399911% 7 450H
[B ﬁq] Fﬁ@?(ﬁ)\) 43 [z:ﬁsmﬁimamaom S

7 AU AGHENT . \@842H = g 3 .
?gf?ﬂ?ff"c()ﬁsﬂ)s 403H]%3;680H = 44 g%f?&%ﬁ%ﬂ?%}%2,480ﬂ .

( %émsﬂlsﬁ »
o 11/16~12/28
—

{2 D F €D

TP RAUAE AtEEk T
LS #1208 (A)

i [:II:E@E] DS

s T
El] iSmnemscoom  62:3,218m
Eill e 24,946m
ke S sseon 609,698

(RN E] ST S ot

IR /BT

L E 1EA(#125g)
45 T LU ((EREREA)
[A{E+E #E02,297 /]

52,480m

L 2B A ($1250g)
fen- LS (EREREA)
[k (I (550 4,5 1 9M]

%4,880m

ﬁ:ﬁ%ﬁé@?ﬂ?&lﬁ1 242H
32 e s %2 570H |

\ ‘js ﬁ
| 23
H, ‘
Bk i
by ANEER]Y:
| i iﬁlﬁménul ARBNIT
OI%; 15} 300g [# ki 2,280m] 300 [FAmE®m 1,9808]
22 124625 52,138
P m
AT 6D to:ﬁ 2 — s
o OY7E /ALmEskd T AR PR /A . F i - : WE- [ ﬁﬁ%
=2 B3 wo#9150g (351 T w85 B  ERslElh B T = : Y mm
135 E:?t%{%géﬁgmo% %ﬁ 1 242H 37 [zsmilﬁ?s(msu)ssom 734H | 11_-i /16~ ‘ [ 3t EHLIWYT jmﬁjmﬂl

300g [F4fitE e 1,780m]

1 Hao et 612,570 | EE1HS0% , . B22,570n | [kl . %11,922r

300g [kt @) 1,480m]

1 ,598%




